24. On December 31, Reach It Batting Cages Company has decided to discard one of its batting cages.  The initial cost of the equipment was $225,000 with an accumulated depreciation of $195,000.  Depreciation has been taken up to the end of the year.  The following will be included in the entry to record the disposal. (Points: 4)
       
[image: image1.wmf]Accumulated Depreciation Dr. $225,000 
       Loss on Disposal of Asset $195,000 
       [image: image3.wmf]Equipment Cr. $225,000 
On December 31, Reach It Batting Cages Company has decided to trade-in one of its batting cages for another one that has a cost of $500,000.  The seller of the batting cage is willing to allow a trade-in amount of $40,000. The initial cost of the old equipment was $225,000 with an accumulated depreciation of $195,000.  Depreciation has been taken up to the end of the year.  The difference will be paid in cash.  What is the amount of the gain or loss on this transaction? (Points: 4)
       [image: image4.wmf]The gain will not be recognized and will be added to the price of the old equipment. 
       [image: image5.wmf]The gain will not be recognized and will be added to the price of the new equipment. 
       [image: image6.wmf]The gain will not be recognized and will be subtracted from the price of the old equipment. 
       [image: image7.wmf]The gain will not be recognized and will be subtracted from the price of the new equipment.   [image: image8.wmf]Gain on Disposal of Asset $30,000
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